Write a paragraph or two on what you learned:

Chapter 16 was mostly focused on forces using Newton's Second Law. When using
velocity as a vector quantity, as magnitude and velocity change due to the flow of fluid, this
results in a change in equal and opposite force. We learned from completing the problems below
that a force is required to accomplish the change when direction or speed are deflected by a fluid
stream. For a real life example of these practices, it can be used when looking at compressed air
coming out of a nozzle being used to move products in a factory. In Chapter 17, we were
introduced to lift and drag, which are important when analyzing the behavior of a body in fluid.
Drag is the force on the body caused by the fluid that resists motion (opposes the direction of
fluid flow), and lift is the force caused by the fluid in the direction perpendicular to the travel
path of the body (net force in upward direction). These can occur simultaneously and the

concepts are similar regardless of the phase they’re in.
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Solutions:
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17.26 A small, fast boat has a specific resistance ratio of 0.06 (see Table 17.2 |0) and displaces 125 long tons. Compute the total ship

resistance and the power required to overcome drag when it is moving at 50 ft/s in seawater at 77°F.
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17.30:

17.20 For the airfoil with the performance characteristics shown in Fig. 17.11 (B, determine the lift and drag at an angle of attack of 10
The airfoil has a chord length of 1.4 m and a span of 6.8 m, Parform the calculation at a speed of 200 kmvh in the standard atmosphere at
{a) 200 m and (b) 10 000 m.
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